Chapter 5- multiple scales

L> typically needed when there are two time or length scales in a dufferential equation.

(Processes have meir cun scales unich act simultaneensly...) 5.1 van der Pol oscillater

 $X + \Sigma \dot{X}(X^2 - 1) + X = 0$ with $0 < \varepsilon << 1$ with $X = 1, \dot{X} = 0 \ e^{+} = 0$

Treating the problem as a regular perturbation expansion:

X~ Xo + 5 X1 + ... - expand and whect terms at each order:

 $0(1): X_0 + X_0 = 0$ with $X_0(0) = 1, X_0(0) = 0 \Rightarrow X_0(t) = cost$.

 $O(\epsilon): X_1 + X_1 = -(X_0^2 - 1) X_0 = (1 - \cos^2 +)(-\sin 4) = \frac{1}{4} \sin 4 - \frac{3}{4} \sin 4$ X_1(+1) = $\frac{3}{4} + \cos 4 - \sin 4$) - + (such - 3 - 1)

$$(1011 - \frac{1}{8}(100st - 8int) - \frac{1}{32}(8inst - 38int)$$

Mill generate a resonant term...

(68)

Putting me terms together:

$$X(t; \varepsilon) \sim uost + \varepsilon \left[\frac{3}{8} (tuost - sint) - \frac{1}{32} (sinst - 3sint)\right] + \dots$$

Vand for fixed t as $\varepsilon \rightarrow 0$, but breaks down as $t \sim 0$ ($\frac{1}{\varepsilon}$) because of the resonant terms.

Problem: damping term only enanges the solution by O(1) over a timescale of $O(\frac{1}{2}) - u$ iff's a slow accumulation of small effects. Le The processes on the authorit timescales are <u>fast</u>

Oscillations and stow damping.

Solution - introduce two time variables: T = t - fast time of Oscillation $<math>T = \varepsilon t - \delta t$ Stow time of ampritude angle. Seek a solution $x(t; \varepsilon) = x(\tau, T; \varepsilon)$

treat I and I as Independent.

 $\frac{d}{dt} = \frac{d\tau}{dt} \frac{\partial}{\partial \tau} + \frac{d\tau}{dt} \frac{\partial}{\partial \tau} = \frac{\partial}{\partial \tau} + \frac{z\partial}{\partial T}$ $\frac{d^2}{dt^2} = \frac{\partial^2}{\partial \tau^2} + \frac{2z}{\partial \tau^2} + \frac{z^2}{\partial \tau^2} + \frac{z^2}{\partial \tau^2}$

lements ODES -> PDES le malies the problem nure complicated! (ushally he am togo the OTHE- way - to see that this simplifies the problem we help going...)

69)

$$expand: X(t,T;z) \sim X_{o}(t,T) + z X_{i}(t,T) + \dots \text{ as } z \rightarrow 0^{+}$$

$$O(\Sigma^{\circ}): \frac{\partial^2 X_0}{\partial \tau^2} + X_0 = 0$$
 with $X_0 = 1$, $\frac{\partial X_0}{\partial \tau} = 0$ at $t = 0$.

$$\Rightarrow \chi_0(\tau, T) = R(T) \log(\tau + \theta(T)).$$

amphinde and phase constant as far as the fast timescale T concerned, but vary on sion timescale T.

$$(CS \rightarrow R(0) = 1 \text{ and } \Theta(0) = 0 \in C$$

< OIN RITI, OIT) as yet undetermined.

 $O(z^{1}): \frac{\partial^{2} x_{1}}{\partial \tau^{2}} + x_{1} = -\frac{\partial x_{0}}{\partial \tau} (x_{0}^{2} - 1) - 2 \frac{\partial^{2} x_{0}}{\partial \tau \partial \tau}$ $= 2 R \frac{\partial \Theta}{\partial \tau} \log(\tau + \Theta) + (2R_{\tau} + \frac{1}{4}R^{5} - R) \sin(\tau + \Theta)$ $+ \frac{1}{4}R^{5} \sin((3\tau + \Theta))$ will resonate $Wth \quad x_{1} = 0, \quad \frac{\partial x_{1}}{\partial \tau} = -\frac{\partial x_{0}}{\partial \tau} = -\frac{\partial R}{\partial \tau} \quad at t = 0$ $(conses from the O(z^{1}) term at t = 0;)$ $\frac{\partial x_{1}}{\partial \tau} + \frac{\partial x_{0}}{\partial \tau} = 0$

So we need to remove them or the expansion mill cease to be Valid for t~0(₺) (again!).
L> use the freeclosm in R(T), O(T) to do this...

Secularity conditions:
$$2R\frac{d\Theta}{dT} = 0 \Rightarrow \frac{d\Theta}{dT} = 0$$

$$\frac{2dR}{dT} + \frac{1}{4}R^{4} - R = 0 \Rightarrow \frac{d\Theta}{dT} = \frac{1}{8}R[14 - R^{2}]$$
Solving: $\Theta(T) \equiv 0$
 $R(T) \equiv 2(1 + 3e^{-T})^{-\frac{1}{2}}$
 $\Rightarrow 2as T \Rightarrow \infty$ (is a stable limit (yele)
 $\therefore X(T) \sim X_{0}(T, T) = \frac{2}{(1 + 3e^{-T})^{\frac{1}{2}}}$ (ost $\pm 0(2)$
Can evaluate x_{1} as $x_{1}(T, T) = -\frac{1}{52}R^{2}\sin 3\tau \pm S(T)\sin (\tau \pm \varphi(T))$
amplitude $\pm phase \frac{1}{2}s$
 H_{1} reconst (with the adversaries by
 h_{2} reconst (with the adversaries by
 h_{3} recutanty (or difference)
 $M = Rich adversaries again.$
At higher orders, we would infact that that resonant forcing is
impossible to avoid - eg in solving fer x_{1} we cannot avoid resonance
 $\ln X_{2}$. (an be initigated by introducing $austref$ islow stabil
 $X_{0} = R(T) \cos[\tau + \Theta(T)] = \frac{1}{2}(R^{2}T + \overline{A}e^{-i\tau})$ with $A = A(R_{1}\Theta) = Re^{i\Theta}$
 $O[2^{1}]: \frac{3^{2}X_{1}}{3T^{2}} + X_{1} = -2\frac{3^{2}X_{2}}{3T^{2}} - (X_{0}^{2}-1)\frac{3x_{0}}{3T}$
 $= -i \left[\frac{dA}{aT} - \frac{1}{6}A(4-iA)^{2}\right]e^{iT} + c.c.\right] + usinsecular forms.$
Suppressing resonant forms: $\frac{dA}{aT} = \frac{1}{6}R(4-R^{2})$
 $\frac{dE}{aT}e^{i\Theta} + Re^{i\Theta} = Re^{i\Theta} \cdot \frac{1}{6}(4-R^{2})$ with $R = \frac{1}{6}R(4-R^{2})$
 $\frac{dE}{aT}e^{i\Theta} + Re^{i\Theta} = Re^{i\Theta} \cdot \frac{1}{6}(4-R^{2})$ with $R = \frac{1}{6}R(4-R^{2})$
 $\frac{1}{8} \frac{dE}{aT}e^{i\Theta} + Re^{i\Theta} = Re^{i\Theta} \cdot \frac{1}{6}(4-R^{2})$

Hamogenisation

Example
$$\frac{d}{dx} \left(D(x, \frac{x}{\xi}) \frac{du}{dx} \right) = f(x)$$
 $X \in [0,1]$ with $u(0) = a, u(1) = b$
and $0 < \varepsilon < 1$.

 $0 < D_{-}(x) < D(x, \frac{x}{\xi}) < D_{+}(x)$ with D_{+} (untrivious)



question - can we approximate by $\frac{d}{dx} \left(\overline{D}(x) \frac{du}{dx} \right) = f(x) \quad x \in [0, 1]$ u(0) = a? u(1) = b

Use the method of multiple scales: let $u[x_i \epsilon] = u[x_i X_i \epsilon)$ with $X = \frac{\kappa}{\epsilon}$. (NB here I'll unite $x = \kappa$ and $X = \frac{\kappa}{\epsilon}$ to make clear which κ is which!)

$$\frac{d}{dx} \mapsto \frac{\partial}{\partial x} + \frac{1}{\Sigma} \frac{\partial}{\partial x} = > \left(\frac{\partial}{\partial x} + \frac{1}{\Sigma} \frac{\partial}{\partial x} \right) \left(D(x_1 X) \left(\frac{\partial}{\partial x} + \frac{1}{\Sigma} \frac{\partial}{\partial x} \right) u \right) = f(x)$$

$$U \left(\sum_{i=0}^{\infty} \frac{1}{2} + \frac{\partial}{\partial x} \right) \left(D(x_1 X) \left(\sum_{i=0}^{\infty} \frac{1}{2} + \frac{\partial}{2} \right) u \right) = \xi^2 f(x)$$

Let $U(x_1X; z) = U_0(x_1X) + zU_1(x_1X) + \dots$ $\leq \begin{pmatrix} assume the \\ U_i \ bad - as is \\ physically \\ sensible \end{pmatrix}$

ε² here ⇒ mil heed to go to higher order in on calculations!

 $\overline{\mathbf{A}}$

 $O(z^{\circ}): [D(z_{1}X)U_{0_{X}}]_{X} = 0$ $O(z^{\circ}): [D(z_{1}X)[u_{1_{X}} + u_{0_{X}}]]_{X} + [D(z_{1}X)U_{0_{X}}]_{z} = 0$ $O(z^{2}): [D(z_{1}X)[u_{2_{X}} + u_{1_{X}}]]_{X} + [D(z_{1}X)[u_{1_{X}} + u_{0_{X}}]]_{z} = f(x)$ Integrating at $O(z^{\circ}): D(x_{1}X)U_{0_{X}} = c_{1}(z)$ $= U_{0}(z_{1}X) = (z(z) + c_{1}(z) + \int^{X} \frac{1}{O(z_{1}S)} dS$

Note that $\int_{a}^{x} \frac{1}{D(x,s)} ds \wedge crd(X) as X \Rightarrow \infty$ since D(x,X) is bounded. Recall that $X = \frac{x}{z}$ so as we take $z \Rightarrow 0, X \Rightarrow \infty$ and the integral blows up => Need $G(x) \equiv 0$ to keep the solution bounded is: $u_{0} = u_{0}(z)$. $O(z^{1}): (D(x,X)[u_{1X} + u_{0X}])_{X} + (D(x_{1X})u_{0X})_{X} = 0$ = 0 Since $u_{0} = u_{0}(x)$ = 0 $D(x,X)[u_{1X} + u_{0X}] = d_{1}(x)$

Then, similarly, for u, 124 X) to be bonnald, we need the ord (X) terms to balance ie.

$$d_{1}(x) = \lim_{X \to \infty} \left[\frac{X}{\int_{0}^{x}} \frac{1}{D(x_{1}s)} ds \right] u_{0x} := D_{H}(x) u_{0x}$$

$$o(z^{2}): \left(D(z_{1}X) \left[u_{2X} + u_{1x} \right] \right)_{X} + \left(D(z_{1}X) \left[u_{1X} + u_{0x} \right] \right)_{x} = f(x) \right)_{x}$$

$$= d_{1}(x)$$

$$\Rightarrow \left(D(x_{1}X) \left[u_{2x} + u_{1x} \right] \right)_{X} = f(z) - d_{1}'(x) = d_{1z}$$

$$\Rightarrow D(x_{1}X) \left[u_{2x} + u_{1x} \right] = e_{1}(z) + \left(f(x) - d_{1}'(x) \right) X$$

$$u_{2X} = \frac{1}{D(x_{1}X)} \left[e_{1}(z) + \left(f(x) - d_{1}'(z) \right) X \right] - u_{1x}$$

$$\therefore u_{2}(x_{1}X) = e_{2}(z) + e_{1}(x) \int_{0}^{x} \frac{1}{D(x_{1}s)} ds \quad ord(x) as x \to \infty$$

$$+ \left[f(z) - d_{1x} \right] \int_{0}^{x} \frac{5}{D(z_{1}s)} ds + \int_{0}^{x} u_{1x} ds$$

$$ord(x^{2}) as x \to \infty$$

L> has nothing to balance it as X->00

Recall that
$$d_{1}(z) = \lim_{X \to \infty} \left[\frac{X}{\int_{0}^{X} \frac{1}{D(x_{1}S)} dS} \right] U_{0x} = D_{H}(z) U_{0x}$$

Then we need $f(z) = d_{1z} \Rightarrow \frac{d}{dz} \left[D_{H}(z) \frac{du_{0}}{dz} \right] = f(z)$

I This is the homogenised equ!

73

NB IF DIXIX) is periodic, say into periodicity

$$D_{H} = \lim_{X \to \infty} \left[\frac{X}{X} \right]_{0}^{t} \frac{1}{D(x_{1}s)} ds = \left[\int_{0}^{t} \frac{1}{D(x_{1}s)} ds \right]^{-1}$$

Chapter 6 The WKB method liventzel, kramers and Brillown)

Singular perhurbolition problem that does not have boundary layers:

 $\Sigma^{2}y'' + y = 0$ (0< Σ <<1)

- Oscillatory solutions of the ferm $y = A \cos(\frac{x}{2} + 0)$

- Typical of many problems ansing in "high frequency wave propagancin

- Need a memore to deal asymptotically (2-) or) with these problems.

The WKB memore is show a memore for unear wave propagation problems.

usual $z^2y'' + q(x)y = 0$ with q(x) > 0 in the region of interest.

-leads to megnestion of what happens when the frequency of Osculations is modulated on the store scale.

Is for the van der PST oscillater, in the Moft MS example, we saw that the amprillade was modulated on the stow scale. SO, here we expect that the frequency milbe modulated on the stow scale.

First-my me may may and see may it tails to capture the dynamics.

Let $z X = x \implies \frac{d^2 y}{dx^2} + q(z X)y = 0 \iff 0$ sullater met ereny varying prequency.

we might be tempted to men unte y = y(x, X) so mat

N2 ...

$$\frac{\partial^2 y}{\partial \chi^2} + 2 \frac{\partial^2 y}{\partial \chi \partial \chi} + \frac{\varepsilon^2}{\partial \chi^2} + q(\chi)y = 0 \qquad \left(\frac{\partial y}{\partial \chi} = \frac{\partial y}{\partial \chi} + \frac{\varepsilon}{\partial \chi}\right)$$

Expand as y= yot zy, +... and whech terms to give

(H)

$$O(1): \frac{\partial^2 y_0}{\partial X^2} + q(x)y_0 = 0 \implies y_0 = A(x)\cos\left(q(x)^{1/2}X + O(x)\right)$$

arbitrary functions of X determined by secularity conditions at $O(\Sigma)$. 75

$$O(\Sigma): \quad \frac{\partial^2 y_1}{\partial X^2} + \frac{2}{2} \frac{\partial^2 y_0}{\partial X} + q(x)y_1 = 0$$

$$= \frac{\partial^{2} y_{1}}{\partial X^{2}} + q(x)y_{1} = 2 \frac{\partial}{\partial x} \left(A(x)q(x)^{1/2} \sin(q(x)^{1/2} X + \theta(x)) \right)$$

$$= 2 \frac{d}{dx} \left(Aq^{1/2} \right) \sin(q^{1/2} X + \theta)$$

$$- 2 Aq^{1/2} \left(X \frac{dq^{1/2}}{dx} + \frac{d\theta}{dx} \right) \cos(q^{1/2} X + \theta)$$

resonant terms (secularity unarrian)

$$\Rightarrow \frac{d}{dx} \left(Aq^{1/2} \right) = 0 \text{ and } X \frac{dq^{1/2}}{dx} + \frac{d\theta}{dx} = 0$$

Since $q = q(x)$ and $\theta = \theta(x)$
This cannot be satisfied for $t X$
Ly mil happen intenever the
frequency of the fast oscillation
depends on the slow scale.
Instead of the Mof MS, we need to use a Wich expansion of the form
 $y(x) = e^{i\varphi(x)/z} A(X; z)$
NB we withinately want a real solution-
but this is on since we can just
add the c.c. w

Then
$$\frac{dy}{dx} = e^{i\varphi(x)/\epsilon} \left[\frac{i\varphi(x)}{\epsilon} A + A' \right]$$

 $\frac{d^2y}{dx^2} = e^{i\varphi(x)/\epsilon} \left[-\frac{(\varphi)^2}{\epsilon^2} A + \frac{2i\varphi'}{\epsilon} A' + \frac{i\varphi''}{\epsilon} A + A'' \right]$
 $e^{i\varphi(x)/\epsilon} \left[-\frac{(\varphi)^2}{\epsilon^2} A + \frac{2i\varphi'}{\epsilon} A' + \frac{i\varphi''}{\epsilon} A + A'' \right] + q(x)e^{i\varphi(x)/\epsilon} = 0$
 $\Rightarrow \epsilon^2 A'' + 2i\epsilon\varphi' A' + \left[-\varphi^{i2} + i\epsilon\varphi'' + q \right] A = 0.$

Now, expand A by unting $k = A_0 + \Sigma A_1 + \cdots$, substitute and lower terms:

$$O(1): \left[-\varphi^{12} + q_{0}\right] A_{0} = 0 \implies \varphi^{1}(x)^{2} = q_{0}(x)$$

ie $\varphi^{1}(x) = \pm \sqrt{q_{0}(x)}$

$$0(\varepsilon) : 2\varphi' A_{0} + \varphi'' A_{0} + [-\varphi^{12} + q_{0}] A_{1} = 0$$

= 0
= 0
= 2\varphi' A_{0}^{1} + \varphi'' A_{0} = 0
$$\varepsilon \quad \frac{2A_{0}^{1}}{A_{0}^{"}} + \frac{\varphi''}{\varphi'} = 0 \Rightarrow \log(A_{0}^{2}\varphi^{1}) = \text{lonstant}$$

= $A_{0} = \frac{\kappa}{\sqrt{\varphi^{1}}} \quad \kappa \in C.$

At higher order:

$$O(z^{n+1}): A_{n-1}^{"} + 2i\varphi' A_{n}' + i\varphi" A_{n} = O \qquad \text{lfustorder, linear eqns})$$

$$2i \int \varphi'' ((\varphi')^{2} A_{n})' = -A_{n-1}^{"}$$

$$= A_{n} = \frac{i}{2J\varphi'} \int \frac{A_{n-1}^{"}}{J\varphi'} dx$$

$$\int \text{hsing integrating factors}$$

 φ -what happens if we have a q(x) instead that has q(x)=0 for some x. leg as we go from $q(x)<0 \rightarrow q(x)>0$?

Example

L> semi-classical quantum turning points.

10 steady state schndunger egn:

$$f'' - x^2 \psi = -E\psi$$
 with $\psi \rightarrow 0$ as $x \rightarrow \infty$ and $\psi'(0) = 0$ (xeir, $\psi \in c$)

Tate an even reflection of 4 to generate an even Wave function for XEIR

(77)

Problem- find the large (E>>1) eigenvalues

NB-can only find a solution fer some values of E-known as me energy levels.

Rescale: $y = \psi$, $x = \frac{x}{z}$ into $z = \frac{1}{E}$ (dropping bars) => $zy'' + (1 - x^2)y = 0$ and $y(\infty) = 0$, y'(0) = 0 O<z<<1.

Proceeding exactly as before: $y = e^{i\varphi(x)/\epsilon} A(x;\epsilon) \sim e^{i\varphi(x)/\epsilon} \sum z^n A_n(x)$ (NB problem of the same form but domain is different.)

$$O(z^{\circ}): \qquad \varphi'(x) = \pm \sqrt{1-x^{2}}$$

$$O(z^{\circ}): \qquad A_{o}(x) = \underbrace{\text{lenstant}}_{(1-x^{2})^{1/4}} \qquad Blavs up as x \rightarrow 1 - an$$

$$\operatorname{Indication} \operatorname{The} W \in B \operatorname{Inlinof}_{W \rightarrow h} (x) = \underbrace{\operatorname{Indication}}_{W \rightarrow h} (x) = 1, \text{ but if mill}$$

Using the WCB expansion:

$$\frac{O < x < 1}{(1 - x^{2})^{1/4}} \quad y \sim \frac{M_{0}}{(1 - x^{2})^{1/4}} e^{\frac{1}{16} \int_{0}^{x} \sqrt{1 - s^{2}} ds} + \frac{N_{0}}{(1 - x^{2})^{1/4}} e^{-\frac{1}{6} \int_{0}^{x} \sqrt{1 - s^{2}} ds} + \frac{R_{0}}{(1 - x^{2})^{1/4}} e^{-\frac{1}{6} \int_{0}^{x} \sqrt{1 - s^{2}} ds} + \frac{R_{0}}{(1 - x^{2})^{1/4}} e^{-\frac{1}{6} \int_{0}^{x} \sqrt{1 - s^{2}} ds} + \frac{R_{0}}{(1 - x^{2})^{1/4}} e^{-\frac{1}{6} \int_{0}^{x} \sqrt{1 - s^{2}} ds} e^{-\frac{1}{6} \int_{0}^{x} \sqrt{1 - s^{2}} e^{-\frac{1}{6} \int_{0}^{x} \sqrt$$

Solutions break down in a region around $X=1 \Rightarrow$ need to consider an inner region e = 1 and then mater to the LHIRH outer solutions. Inner region (around x=1) Let $x = 1 + \delta_1(z) X$

> anticipate $\sigma_1(\epsilon)$ small so that $X \rightarrow \infty$ matches the RH onter and $X \rightarrow -\infty$ Matches the LH onter.

We don't know it the solutions linner (onter) mill be on the same scale -since $||-x^2|^{-\frac{1}{2}}$ blows up as we go from onter to inner

In the inner solution: $B_i(X) \to \infty$ as $X \to \infty \Rightarrow S_0 = 0$.

Otherwise everything scales with $\frac{1}{\chi^{1/4}}e^{-\frac{2}{3}\chi^{3/2}}$ (using vomeorine intermediate scaling)

so, ne require that the coefficients match. Use an intermediate Vanable : recall first

$$0 < x < 1 \quad y \sim \frac{P_0}{(1-x^2)^{1/4}} \log \left(\pm \int_0^x \sqrt{1-s^2} \, ds \right) \qquad \text{LHOUTER}$$

$$x > 1 \quad y \sim \frac{Q_0}{(1-x^2)^{1/4}} e^{-\frac{1}{2} \int_1^x \sqrt{s^2-1}} \, ds \qquad \text{RHOUTER}$$

$$y \sim \frac{Y_0(x)}{S_2(z)} = \frac{R_0 \operatorname{Ai}(x)}{S_2(z)} \qquad x = 1 + S_1(z) X \quad S_1(z) = \frac{z^{2/3}}{2^{1/3}} \quad \text{INNER}$$

Matching
$$\chi - i = \sigma_{1}^{R} \hat{\chi} = \sigma_{1}^{R} \chi$$
 pc (0,1)
Then $\Sigma \to 0^{+}$ gives $\sigma_{1}^{R} \to 0 \Rightarrow \chi \to i$ and $\chi \to \pm \infty$ (depending on sign($\hat{\chi}$))
Take $\hat{\chi} > 0$ to match linner with RH outer: $\left(\zeta \stackrel{hiklas}{} \frac{\chi_{1}}{\chi_{2}}\right)^{1/4} = C^{-2/4} \frac{\chi_{1}}{\chi_{2}} \frac{\chi_{1}}{\chi_{2}}$
 $\gamma_{0} = R_{0} \operatorname{Ai}(\chi) = R_{0} \operatorname{Ai}(\hat{\chi}/\sigma_{1}^{1-R}) \sim R_{0} \frac{1}{2J\pi} \left[\frac{\sigma_{1}-r}{\chi}\right]^{1/4} e^{-2/4} \frac{\chi_{1}}{\chi_{2}}$
 $\gamma_{0} = R_{0} \operatorname{Ai}(\chi) = R_{0} \operatorname{Ai}(\hat{\chi}/\sigma_{1}^{1-R}) \sim R_{0} \frac{1}{2J\pi} \left[\frac{\sigma_{1}-r}{\chi}\right]^{1/4} e^{-2/4} \frac{\chi_{1}}{\chi_{1}}$
 $\gamma_{0} = R_{0} \operatorname{Ai}(\chi) = R_{0} \operatorname{Ai}(\hat{\chi}/\sigma_{1}^{1-R}) \sim R_{0} \frac{1}{2J\pi} \left[\frac{\sigma_{1}-r}{\chi}\right]^{1/4} e^{-2/4} \frac{\chi_{1}}{\chi_{1}}$
 $\gamma_{0} = R_{0} \operatorname{Ai}(\chi) = R_{0} \operatorname{Ai}(\hat{\chi}/\sigma_{1}^{1-R}) \sim R_{0} \frac{1}{2J\pi} \left[\frac{\sigma_{1}-r}{\chi}\right]^{1/4} e^{-2/4} \frac{\chi_{1}}{\chi_{1}} \left[\frac{(1+\frac{1}{2})^{1/4}}{(\alpha_{1}-r)^{1/4}} \frac{1}{2} \operatorname{Cose} t_{0}$
 $\chi = \frac{1}{2} \frac{\chi_{1}}{\chi} (\chi_{1}+\chi)^{1/4} e^{-\frac{1}{2} \int_{\chi}} \left[\frac{1}{2Z} \frac{1}{Z} (\sigma_{1})^{1/4} \frac{1}{\chi}\right]^{1/4} d\eta$
 $\chi = \frac{1}{2} \frac{\chi_{2}}{\chi} (\chi_{1}+\chi)^{1/4} \frac{\chi_{1}}{\chi} \exp\left[-\frac{2}{3} \frac{\chi_{1}^{3/4}}{(\sigma_{1}^{1-R})^{3/4}}\right]$
And $\gamma = \delta_{2} \gamma \Rightarrow \alpha \frac{R_{0} \sigma_{1}^{3/4}}{2J\pi} \frac{1}{\sigma_{1}} \frac{1}{r^{1/4}} \frac{1}{\chi^{1/4}} e^{-\frac{\pi}{2} \frac{\chi^{3/4}}{(\sigma_{1}^{1-R})^{3/4}}}$
For coefficients to be equal: $\frac{R_{0} \sigma_{1}^{3/4}}{2J\pi} \frac{1}{\sigma_{1}} \frac{1}{r^{1/4}}} \frac{\sigma_{1}}{2^{1/4}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{1}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{1}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_{2}} \frac{\sigma_{2}}{\sigma_$

$$l_{0}(\mathbf{x}) = R_{0} \operatorname{Ai}\left(\frac{\hat{\mathbf{x}}}{\sigma_{1}^{1-s}}\right) \sim \frac{R_{0} \sigma_{1}^{(1-s)/4}}{\sqrt{\pi} (-\mathbf{x})^{1/4}} \operatorname{Sin}\left(\frac{2}{3} \frac{(-\hat{\mathbf{x}})^{3/2}}{(\sigma_{1}^{1-s})^{3/2}} + \frac{\pi}{\alpha}\right)$$

$$\rightarrow -\infty$$

$$\operatorname{As} \sigma_{1} \rightarrow 0 \qquad 7 \quad \text{relevant expansion}.$$

=> We require

$$\frac{\frac{P_{o}}{2}\log\left(\frac{\pi}{4z}-\frac{2}{3}\frac{1}{(\sigma_{1}^{1-s})^{3/2}}(-\hat{x})^{3/2}\right)}{W}\sim\frac{\frac{R_{o}}{J\pi}\sin\left(\frac{\pi}{4}+\frac{2}{3}\frac{(-\hat{x})^{3/2}}{(\sigma_{1}^{1-s})^{3/2}}\right)}{W}$$

Expanding the sin lios terms:

$$\frac{P_o}{2^{1/4}} \left[\cos \left(\frac{\pi}{4\epsilon}\right) \cos w + \sin \left(\frac{\pi}{4\epsilon}\right) \sin w \right] \sim \frac{R_o}{J_{ff}} \left[\sin \left(\frac{\pi}{4\epsilon}\right) \cos w + \cos \left(\frac{\pi}{4\epsilon}\right) \sin w \right]$$
Note that w contains \hat{x} unich varies (recall-not matching at a single point)
bence equality must hold $\forall w$

$$Loefficients d los w term must be equal : \frac{P_{o}}{2^{1/4}} los \left[\frac{T}{4\epsilon}\right] = \frac{R_{o}}{J_{2TT}}$$

$$-\frac{1}{2} - \frac{1}{2} - \frac{1}$$

Also,
$$\cos\left(\frac{\pi \pi}{4\epsilon_{n}}\right) = \cos\left(\frac{\pi}{4} + n\pi\right) = \frac{1}{\sqrt{2}}(-1)^{n}$$

 $\Rightarrow P_{0} = \frac{2^{1/4}(-1)^{n}R_{0}}{2} = 2(-1)^{n}\varphi_{0}$

$$\int \frac{2}{\sqrt{\pi}} = 2(-1)^{0}$$

All togener:

$$\begin{array}{l} y_{n} \sim \frac{1}{(\chi^{2}-1)^{1/4}} e^{-\frac{1}{2\pi} \int_{1}^{\chi} \int \overline{S^{2}-1} \, dS} & \begin{array}{c} \text{RHOUTER} \\ \chi_{>1, \chi \neq 1} \end{array} \\ \sim \frac{2^{1/2}}{z^{1/6}} 2^{3/4} \int \overline{TT} \ \varphi_{o} \ \text{Ai} \left(\frac{2^{1/3} (\chi-1)}{\sum_{n}^{2/3}} \right) & \begin{array}{c} \text{INNER} \\ \end{array} \\ \sim \frac{2[-1)^{n} \varphi_{o}}{(\chi^{2}-1)^{1/4}} \log \left| \frac{1}{2\pi} \int_{0}^{\chi} \int \overline{I-S^{2}} \, dS \right| & \begin{array}{c} \text{LHOUTER} \\ \chi < I_{1} \ \chi \neq I \end{array} \end{array}$$

: Have determined all the coefficients in terms of po

82

- We can't determine q. as we are dearing inth a linear diff. equation mth homogeneous BCs $y(\infty) = 0, y'(0) = 0.00$ Mutiplying any soin by a constant giver another solution.